Universsity Work.

2. (1) Let x—at+brctdie, then given
expresunn

3, v betc, —(av+ bVt +d* w‘)}

;3{5:' ~2v(ardctdy :)}
sar', wheituting r for a+bei rdio,
and 3{a 4 b+ +d+0) is square rool vought.

{2) o.

3. Show that (r-a)'* - x%a* r{x* - ax
+a*)* s exactly divisible by ' - 240°

i 21%: - @a",

Find the factors of (a® - A%)* + (A* - %)
et -at)e.

3- Divisor = (1~ a)(x* -~ ax +a*), the ex-
pression (x ~a)'® - x*a* +(r* - ax 4 a%)*

vanishes when r=a, and is therefore divi-
sible as stated.

Writing x:-a®- 4%, and y=4% (%, and

x+y=a®-c* the given expression be-

comes x>+ p* - (r 4 y)*.

T +yt - (1t + 54yt 100" + 1000y
+558 ).
s= 5ot 4yt ioxty x4y |
< -srple ) {xt -y iyt t20y) |
= - Gay(x ) xt+xy 4yt

. re-substituting for x, y and x +y,
given expression = — §(a® - 5%)(8* - (')

{a? - 3) : (a2 - 822 + (a2-82)(82 - 2) + (B _,-.')z:_
=5(6a2 - (2 - 3)(? - a?) {a‘ <A+t - a2b?
-8 (’a’}

4. Show how to extract the square root of -

a quantity of the form a+ 8y — 1.
(1) Find the square root of -3~y - 16.
(2) Show that one of the fourth roots of
-0gis 214y -1).
4. Bookwork.
(1) Given expression

-(3+4V - 1),

nary way we find it to be (2+3 = 1), and

square root required is - 142y -1,
(2) Required 23/ 2-(—1)‘ = R, say in
1
At r1=0, pul x+ C=: and 2* - 2=0, thus

- "2, therefore (x* +xV/ 2 + 1) (x* - x

| 2+1)=o0, one of the roots of x*—x}' 2

1+vV -1
+1=0, is —-"—»_—-«and R=2(1+, 0
V2
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§. Nolve the cquaiions ar + éy = ¢, a’r
¢ &’] ENS
a b ¢
Interpret the result when o K e
5. Bookwork. See Todbunter's Algebra

(larger) where, in chapter on simultaneous
equations, the whole subject 1< discunved.

6. Solve the equations—

ax+b cx+d ay b cx--d
(1) S T
a+hs  crdx a bty (- dy
> N
(2)1’*' . e
H
4 bbb,
« ra a-4
+——=cta.
a+b b - ta
ax +b ax-b cx-d cx+d
avhr a-bx c-dr . +dx

zaf:(l - x?) :nl'({-‘— 1)

PRI B
ot-x2=0,and 3= 41,
ab of

or .- e e
a? Ha? - 22

abc? - abd?x? = Pedx? - a2t

acta + b)) = bdx (ad + &)
ac*a +6)
and £1= T b
| a(a~-8)
*= 2\ ba(adi b
or x= 41.
: (2) By inspection we see at once that the
" roots are
x=61- 3,
y=ct-al
z:==a?- 4.

_ 7 i These may also be obtained by cross multi.
extracting square root of 3+4V ~ 1 in ordi- |

plication.
7. Find the relation between the ronts and
co-cflicients of the equation x*+pxr+g=o0,
If the difference of the roots of the equa-
tion x* — (m —a)x + 6% is equal to the differ-
ence of the roots of the equation x* + (m - 8)x
+at, show that 2m = 5(a + 4).

7. It a and 8 be the roots of the equation

x4+ px+g=o,thenu—3-: 41 p* - 49 mak-
ing the necessary substitutions the resu't

. given, viz.: 2m + §{a +8) follows at once.



